					An	nexure 4				
	Package I :	Cases of De	eviation/Var	iation / Extra	& Subs	titute Item	is put up in tl	he 22nd ERC	Meeting of A	AIIMS, Raipur
S. No.	DSR Reference	BOQ Reference	Deviation/ Extra/ Substitute Item	Description of Item	Unit	Quantity	Rate Sanctioned	Amount Sanctioned (Rs.)	Approved / Not Approved/ Deferred	Remarks
1	Non DSR Item		Extra Item (Civil)	Disposal of soil for additional lead beyond 50 meters and up to 1 km (1000 meters)	Cubic Meter (M <sup>3</sup> )	46458.36	19.61	Nil	Deferred	This item was deferred in 20 <sup>th</sup> Meeting of ERC due to inadequate time & again deferred in this ERC as SE, AIIMS, Raipur & Member Secretary of ERC, AIIMS, Raipur will examine this case in detail through Project Management Consultant of AIIMS, Raipur.
	1	<u> </u>	1	-	Total Sa	nctioned A	mount (Rs.)	-	-	
							Say(Rs.)	-	-	

							Α	nnexure	5										
		Package I	I : Cases o	f Deviation,	/ Variatio	on / Extra	a & Sub	stitute It	ems pu	it up in <sup>•</sup>	the 22nd	<b>ERC</b> Meet	ing of AIIN	IS, Raipur					
S. No.	DSR Reference	BOQ Reference	Deviation/ Extra/ Substitute	Description of Item	Unit	BOQ Quantity		Quantity		Quantity				ate ioned/ roposed			Approved / Not		
			ltem				upto 30%	Beyond 30%	upto 30%	Beyond 30%	upto 30%	Beyond 30%	Approved/ Deferred						
1	DSR Item No. 17.58.1	BOQ Item No. 45 (a)	Deviation Item (Plumbing)	Providing lead caulked joints to sand Cast Iron /centrifugally cast (spun) Iron Pipes and fittings of diameter <b>100 mm dia</b> <b>pipe</b>	Number	5486.55	1646.10	10000.00	171.54	283.00	282371.99	2830000.00	Approved	In 20th meeting of ERC, It was requested to the Member Secretary to re- propose this item with rate justification of lead (Rs. 154.00 as on 6.3.2014), Member Secretary has analyzed this case in detail and also checked the rate of lead in market and given his consent to approve this item.					
2	DSR Item No. 18.53		Extra Item No. 5 (Plumbing)	Providing and fixing push type angle valve with C.P flange including telflon tape etc. Push Type Angle valve 15 MM Dia	Numbers		13	3.00	104	4.10	1388	865.30	Approved	This item was Deferred in the 20 <sup>th</sup> meeting of ERC due to inadequate time. This case is discussed again in this ERC and approved by looking to the importance of the work and in the interest of work and Project of AIIMS, Raipur (An Institute of National Importance).					

3	DSR Item No. 18.15	Extra Item No. 10 (Plumbing)	Providing and fixing Air Release valve <b>15 mm</b> <b>dia</b> including White Lead& Dhaga	Numbers	21.00	961.80	20197.80	Approved	This item was Deferred in the 20 <sup>th</sup> meeting of ERC due to inadequate time. This case is discussed again in this ERC and approved by looking to the importance of the work and in the interest of work and Project of AIIMS, Raipur (An Institute of National Importance).
4	DSR Item No. 18.15	Extra Item No.12 (Plumbing)	Providing and fixing Air Release valve <b>20 mm</b> <b>dia</b> including White Lead& Dhaga	Numbers	21.00	963.70	20237.70	Approved	This item was Deferred in the last meeting of ERC due to inadequate time. This case is discussed again in this ERC and approved by looking to the importance of the work and in the interest of work and Project of AIIMS, Raipur (An Institute of National Importance).
5	DSR Item No. 18.15	Extra Item No. 13 (Plumbing)	Providing and fixing Air Release valve <b>25 mm</b> <b>dia</b> including White Lead& Dhaga	Numbers	21.00	992.30 ned Amount (Rs.)	20838.30	Approved	This item was Deferred in the 20th meeting of ERC due to inadequate time. This case is discussed again in this ERC and approved by looking to the importance of the work and in the interest of work and Project of AIIMS, Raipur (An Institute of National Importance).
		1	3312511.09						
						Say (Rs.)	3312511.00		

		• • •					nexure 6							
S. No	P DSR Referen ce	ackage IV BOQ Referen ce	Deviatio	f Deviation/ Variatio Description of Item	on / Extra Unit	Quanti Rate ty Sanctione		Amount Sanctioned Rate (Rs.) Anctioned/R te proposed			Approve d / Not Approve	Remarks		
			e Item				upto 30%	Beyon d 30%	upto 30%	Beyon d 30%	upto 30%	Beyond 30%	d/ Deffered	
1	DSR Item No. 5.9.1	BOQ Item No. 4.1 (a)	Deviatio n Item (Civil)	Centring and Shuttering including strutting propping etc. and removal of form for : foundations, footing, bases of columns etc. for mass concrete	Square Meter (M <sup>2</sup> )		3421.9	5159.9	145.6	196.80	498268. 68	1015470. 29	Approve d	This item was Deferred in 20th meeting of ERC due to inadequate time. This case is discussed again in this ERC and approved by looking to the importance of the work and in the interest of work and Project of AIIMS, Raipur (An Institute of National Importance).

2	Non DSR Item	-	Extra Item (Plumbin g & Fire Fighting)	Providing and Fixing of Y type strainer - 100 MM Dia	Numbe rs		6.00	8065.20	48391.20	Approve d	This item was Deferred in 20th meeting of ERC due to inadequate time. This case is discussed again in this ERC and approved by looking to the importance of the work and in the interest of work and Project of AIIMS, Raipur (An Institute of National
3	DSR Item No. 18.10		Extra Item (Plumbin g & Fire Fighting)	Providing and Fixing of G. I. Pipes (Heavy Class) including all fittings, band, tee, coupling with clamps and pipe support, painting testing complete G. I Pipe <b>200 MM Dia Meter</b>	Meter	-	36.00	3788.54	136387.44	Approve d	Importance). This item was Deferred in 20th meeting of ERC due to inadequate time. This case is discussed again in this ERC and approved by looking to the importance of the work and

									in the interest of work and Project of AIIMS, Raipur (An Institute of National Importance).
4		Extra Item (Plumbin g & Fire Fighting)	Providing and Fixing of G. I. Pipes (Heavy Class) including all fittings, band, tee, coupling with clamps and pipe support, painting testing complete G. I Pipe 150 MM Dia Meter	Meter	205.50	1963.80	403560.90	Approve d	This item was Deferred in 20th meeting of ERC due to inadequate time. This case is discussed again in this ERC and approved by looking to the importance of the work and in the interest of work and Project of AIIMS, Raipur (An Institute of National Importance).
		I			Total Sancti	oned Amount (Rs.	) 2102078.51		· · ·
	· · ·					Say (Rs.	) 2102079.00		